73. Calculate the percent composition by mass of the following compounds that are important

starting materials for synthetic polymers:

0

a. C3H4 0, (acrylic acid, from which acrylic plastics are made)
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89. A compound contains 47.08% carbon, 6.59% hydrogen, and 46.33% chlorine by mass; the
molar mass of the compound is 153 g/mol. What are the empirical and molecular formulas

of the compound?
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é A compound contains 50 percent sulfur and 50 percent oxygen by mass. Which of the following is
the empirical formula of the compound?
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SOs
(D) SOs
(E) S20
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